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Abstract  Network services that flexibly allocate resources, such as QoS and bandwidth-on-demand (BoD) are
increasingly required to advanced Internet backbones that include science information networks. In this paper, we propose a
user's request priority algorithm for the advanced Internet, especially Japanese academic information network called
SINET3. The proposed algorithm provides each user's fairness, and simulation results show that they fit with advanced
Internet backbone.
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Table.1 Topologyl
user name| _from to allow latency |use bands| use time | start at | waittime
user_1 node1 node2 FALSE 300 20 10 30
user 2 nodel node2 FALSE 900 20 10 30 User 3 User 3
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Fig.4 Topologyl Table.2 Topology?2
. user name| _from to__|allow latencyluse bands[ use time | start at [ wait time
Flg-4 (a) SOOStep user_1 nodel node6 FALSE 642 13 17 30
(b) user_2 node2 node6 TRUE 529 14 28 30
user 3 node3 node6 TRUE 364 19 14 30
SAri user 4 node4 node6 FALSE 483 12 22 30
(a) prior ty user 5 nodeb node6 FALSE 654 19 11 30
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luser namel from | to [allow latency]use bands] use time [ start at [ wait time]
) user_1 nodel node6 TRUE 745 12 19 30
Fig.9 user2 | node2 | node6 | FALSE | 227 25 15 30
user.3 noded | node6 TRUE 269 28 1 30
user_ 4 node4 node6 FALSE 456 24 1 30
user 5 noded node6 FALSE 584 14 17 30
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